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Helpful Websitesif you need help with any of the problems, refer to the
following websites:

www.glencoe.com

www.wolffamalpha.com

www.regentsprep.org

Wwww.purplemath.comm

www.aleks.com

www.khanacademy.org

WWW.google.com

www.youtube.com



http://www.glencoe.com/
http://www.wolffamalpha.com/
http://www.regentsprep.org/
http://www.purplemath.comm/
http://www.aleks.com/
http://www.khanacademy.org/
http://www.google.com/
http://www.youtube.com/

PART 1

Define the following.

1. integer

2. rational numbers

3. irrational numbers

4. domain

5. range

6. interval

7. linear

8. absolute value

9. conjugate

10.function

11.independent

12.dependent



13.polynomial

14.parabola

15.vertex

16.vertical asymptote

17.horizontal asymptote

18.maximum and minimum points

19.roots, zeros, #ntercepts, solutions

20.axis ofsymmetry

21.continuous function

22.inverse

23.transformations

24 .significant figures



Everything you need to know about Linear Functions

1. What is the Standard Form of a Linear Equation?

2. What is Slope-Intercept Form of a Linear Equation?

3. What is Point-Slope Form of a Linear Equation?

Graphing Linear Equations

4, Graph the Linear Parent Function: p -l
in red and the function y = E -6 ; B
in pencil.
5. ldentify the domain and range of both functions. ]
Parent: y=3:x-6
=10
Domain: Domain:
Range: Range: o
E asafin
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6. Graph 5x + 2y = 10 7. Graph2x—y =5
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8. Parallel Lines have slope.

9. Perpendicular Lines have slope.
10. Write the equation of each line in Slope -Intercept Form.
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11. Find the slope-intercept form of the line that passes through (2, 3) and (1, 5).

12. Writc the standard form of the equation of the line that passes through (3, 2) and is parallel to the
line whose equation is y = 2x + 5.

13. Write the standard form of the equation of the line that passes through (3, 2) and is perpendicular to
the line whose equation is y = 2x + 5.



Everything you need to know about Quadratic Functions
14. What is the Standard Form of a Quadratic Equation?
15, What is General (Vertex) Form of a Quadratic Equation?

Graphing Quadratic Equations

16. Graph the Quadratic Parent Function: inted and y = —(x + 2)* + 3 in penil.
17. Identify the domain and range of both functions. —

Pﬂ.]'ﬂﬂt: }i’ = —{x + 2}2 + 3 o]
Domain:  Domain:
Range: _ Range:

— i T

16
18. Graph the equation y = 4{x + 2)* - 3 19, :
Identify the following parts of the parabola. i L

Vertex: '

Axis of Symmetry:

Dvirection: !

X-intercepts:

x-intercepts:

Diomain:

Range:

18. Graph the equation y = 4(x + 2)* — 3 . LL T
Identify the following parts of the parabola.
Vertex:

Axis of Symmetry:

Direction: ) :

x-intercepts: i i :

x-intercepts: T ? § ] i I

Domain: ,: : .

Range: ) : LA N



Writing Quadratic Equations
Write the equation for the following graphs.

19. 20.
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21. Write the equation for the quadratic function with a vertex at (-2 ,3) and passes through the point
(4,12)



Part IL.
1. Solve |Sx + 9| + 16 = 22, Check your solutions.

a (-%3) e. {-3.3)
b (.3) d. {-3,-3)
2. Solve 5x + 24 = |8 — 3x|. Check your solutions.

a. {-16) c. {-16,-2}
b. {-2}

d. {2, 16}
3. Given the function f(x) = —3x* — 7x + 23, find f(—4).

a. 3 e 99
b. 195 d -5

4. Given the function f(x) = —3x* — 7x + 23,find f(n + 5).

a. —3n* —3Mn+28 c. —3n?—37n—87
b. —3n% —25n — 87 d —3n?-=37n+17

S. Find the slope of the line containing the points (-5,4) and (6,-9).



6. Determine the slope of the line 7x — 4y = 12

=
o |
="

7. Find the standard form of a line that contains the point (5,-7) and has a slope

m_ 51

a15—3x+y=6 c Sx—7y=6

13
b, 13x +5y =30 d. y=—7x+6

8. Find the slope-intercept form of a line passing through the points (—4, 1}and (5, 2).

a y:—%x-%% c. y=—%x+%
b-. }r=31_13 d. y:%x.l_%

5. Write the slope-intercept form of the equation of a ine passing through the point
{2.1) and perpendicular to the line 4x — 2y = 3.
a y=2x-3 £ }'=%x

k|
b y=-—cx+2 d. y=2x+5



10. Write the slope-intercept form of the equation of a line passing through the point

{1, -1), parallel to the line passing through the points (4, 1) and (2, -3},

a. y=2x-—13

b, y==5x44

11.4/162

12.V150a%bic
a. 6abcVs

b. SabcyVé

13. Stmplify: —6+/5 — 2V49 — 345

a. —9v5 414
b, —9v5 —14
e. —15v5—14
d. —15¢5 -7

14. simplify (v16 — v8)?

a 24 —16v2

b. 24+16v2

. y==3x+12

d y=4x+7

. 33
.32

c. Sabver

d.. 6abvsc

8—16V2

d 8—16v2Z



15. Simpitﬁr%

a -54.f3- 18402

75

be -54./3 + 18./2
e

16, Solve the radical equation: /9% =9+ 3= 10

o 34 c. 109
5 9
b, 104 d. 14
9 9
2x—y=17
17. Solve the system of equations: {3;+ ; =8
a. (-1,3)
b. (1,-3)

5x+2y=-8
18, Solve the system of equations: { x4 ;; — 9

a. (-4.6)

b. (4,-6)

¢ [-9- fE]

c. (-3,1)

d. (3.-1)

c. (6,-4)

d. (-6.4)



19, Solve the system of equations: [

a. (-1,-2)

b. (1,2)

20, Factor completely: 2x* —3x—2
a (2x+1)(x+2)

b, (2x—1)(x+2)

21.Factor completely:  16x% — 8x + 1
a (4xr+1)(4x—1)

b. {Bx 4+ 1)(Bx—1)

Zy=3x-7
4x =3y + 10

c (2,-1)

d (1,-2)

e (2x—1}(x-2)

d (2x+1)(x—-12)

e (4x—1)?

d. (4x+ 1)

22.Factor completsly: 6x* 4+ 5x—6

a. (3x—2)(2x +3)

b. (3x—2)(3x+2)

c. (2x+3)(2x—3)

d (3x+2)(2x—3)

23, Factor completely: 8x% — 4x —24

a. 4(2x* =~ x —6)

b. (2x + 3)(4x — 8)

C.

4(2x + 3)(x — 2)

do 4(2x—3)}x +2)



24, Factor completely:  a® — 4ab + 4b*
a. {a+2b)(a —1b) c. (Za+b)(a—12h)

b, (a+ 2b)(a + 2b) d. {(a—2b)(a— 2b)

25, Factor completely:  36x% — 100y*
a. (6x + 10v¥{6x — 10¥) c. &(3x+ 5¥){3x + 5¥)

b, 2(18x% - 50y%) d 4(3x + 59)(3x — 59)

26, Factor completely: 8x* — 27
a (2x—3H2x® —6x—3) c. (2x+3)2x®+6x—3)

b, {2x—3)(4x% + 6x + 9) d (2x+3)MEx* +6x+9)

27.Factor completely: 8x% —128x
a B(x+4)(x—4) c. Bx(x+4)(x—4)

b. 8(x*—16) d. Bx(x*—16)

28, Solve tha equation by factoring: 6x'—2x=0

ES [ﬂ,%} c. {_érﬂ}

b (2,2} d {—.2}



29. Solve the equation by factoring: x° +x—30=10
a [—5,6} e {—6,5)

b. {—6,—5] 4 {5.6)

30, Solve the equation by factoring: 6x° —S5x—4=10
a (=33 e« =33
b (13 4. G3)
31. Solve the equation by factoring: 12x* = —18x - 6
a 1) e (-1,3)

b (=51} d {-1-3)

32. Find the product:  (—5xy)(4x%)(—3y")
a. —Ax3y® e 60x*yt

b, —60x%y® d. 60x*y?

33, Find the product:  (2x'y?2%)" (—3xy*z)?
a T2xllyllgl? o —72xMyl0z16

b, 36x8y%210 d. —36x1 017



) (Bxy)iz—t
34. Simplify the expression: 1yt 7

9x? 6x
a ¢ 5
¥z
b gy d d_ ﬁﬂ
Ty b4
35, Simplify th ) (—2mn")
" (] ression: T a
P ﬁ” exp o 1
m?5 m?
. c. —
32nl0 32nlo
2m? g =t
bl n " m
36. Multiply the polynomials: (x —3){x* — 4x + 2)
a XM+ 7+ 14x 46 e ¥*—x*4+14x—6
b, x* —7x* 4 14x — 6 d 2} +x*+14x—6
37. Multiply the polynomials: (3x* — 2x + 1)(2x* —3x—4)
a. Gx*—13x% —4x? 4+ 5r— 4 e fix?+ 5% —4x? —5x —4

b, fx*—5xF —fx® + 11x— 4 d 6x*+ 13zxF —Bx?—11x



38, Write a guadratic equation in standard form with the given roots: =5 and 2

axi—Tx+10=10 c.x*—3x+10=0
b.oxf4+Tx+10=0 dort+dx—10=0

39, Determine whether the given function has a maxdmum or a minimum value. Then find the
maximurm of minimum value of the function:

Fx) e = xa
a. The function has a maximum value. The maximum value of the function is 1.
b. The function has a masdmum valee. The maxiomum value of the function is 5.
c. The function has 2 minimum value. The minimum value of the function is 1.

d. The function has a minimum value, The minimum value of the function is 5.






